A Note on the Functions that Are Approximately *p*-Wright Affine

Janusz Brzdęk

Mathematics Subject Classification (2010) 39B52, 39B82.

Abstract Let *W* be a Banach space, (V, +) be a commutative group, *p* be an endomorphism of *V*, and $\overline{p} : V \to V$ be defined by $\overline{p}(x) := x - p(x)$ for $x \in V$. We present some results on the Hyers–Ulam type stability for the following functional equation

$$f(p(x) + \overline{p}(x)) + f(\overline{p}(x) + p(y)) = f(x) + f(y),$$

in the class of functions $f: V \to W$.

Keywords Hyers–Ulam stability $\cdot p$ -Wright affine function \cdot Polynomial function

1 Introduction

Let 0 be a fixed real number and*P*be a nonempty subset of a real linear space*X*. Assume that*P*is*p* $-convex, i.e., <math>px + (1 - p)y \in P$ for $x, y \in P$. We say that a function *f* mapping *P* into the set of reals \mathbb{R} is *p*-Wright convex (see, e.g., [7, 8, 14, 17, 26]) if it satisfies the inequality

$$f(px + (1 - p)y) + f((1 - p)x + py) \le f(x) + f(y) \qquad x, y \in P.$$
(1)

Note that we obtain (1) by adding the following usual *p*-convexity inequality

$$f(px + (1 - p)y) \le pf(x) + (1 - p)f(y) \qquad x, y \in P$$
(2)

to its corresponding version (with x and y interchanged)

$$f(py + (1 - p)x) \le pf(y) + (1 - p)f(x) \qquad x, y \in P.$$
(3)

J. Brzdęk (🖂)

Department of Mathematics, Pedagogical University, Podchorążych 2, 30-084 Kraków, Poland

a mailt ibrzdalz@up krakow.10

e-mail: jbrzdek@up.krakow.pl

[©] Springer Science+Business Media, LLC 2014

T. M. Rassias (ed.), Handbook of Functional Equations,

Springer Optimization and Its Applications 95, DOI 10.1007/978-1-4939-1246-9_3

Analogously, we say that $g : P \to \mathbb{R}$ is *p*-Wright concave provided the subsequent inequality holds:

$$f(px + (1 - p)y) + f((1 - p)x + py) \ge f(x) + f(y) \qquad x, y \in P.$$

The functions that are simultaneously p-Wright convex and p-Wright concave, i.e., satisfy the functional equation

$$f(px + (1 - p)y) + f((1 - p)x + py) = f(x) + f(y),$$
(4)

are called *p*-Wright affine (see [7]).

Note that for p = 1/2, Eq. (4) is just the well-known Jensen functional equation

$$f\left(\frac{x+y}{2}\right) = \frac{f(x)+f(y)}{2}.$$

If p = 1/3, then Eq. (4) can be written in the form

$$f(x+2y) + f(2x+y) = f(3x) + f(3y).$$
 (5)

Solutions and stability of the latter equation have been investigated in [16] (cf. [5]) in connection with a generalized notion of the Jordan derivations on Banach algebras. Solutions and stability of Eq. (4), for more arbitrary p, have been studied in [4, 6, 7] (see also [13, 23]). (For further information and references on stability of functional equations, we refer to, e.g., [3, 10, 11, 15, 18–22, 25]). In particular, the following results have been obtained in [4] (\mathbb{C} denotes the set of complex numbers).

Theorem 1 Let X be a normed space over a field $\mathbb{F} \in \{\mathbb{R}, \mathbb{C}\}$, Y be a Banach space, $p \in \mathbb{F}$, $A, k \in (0, \infty)$, $|p|^k + |1 - p|^k < 1$, and $g : X \to Y$ satisfy

$$\|g(px + (1 - p)y) + g((1 - p)x + py) - g(x) - g(y)\| \le A(\|x\|^k + \|y\|^k)$$
(6)

for all $x, y \in X$. Then there is a unique solution $G : X \to Y$ of Eq. (4) with

$$\|g(x) - G(x)\| \le \frac{A\|x\|^k}{1 - |p|^k - |1 - p|^k} \qquad x \in X.$$
(7)

Theorem 2 Let X be a normed space over a field $\mathbb{F} \in \{\mathbb{R}, \mathbb{C}\}$, Y be a Banach space, $p \in \mathbb{F}$, $A, k \in (0, \infty)$, $|p|^{2k} + |1 - p|^{2k} < 1$, and $g : X \to Y$ satisfy

$$\|g(px + (1 - p)y) + g((1 - p)x + py) - g(x) - g(y)\| \le A \|x\|^k \|y\|^k$$

for all $x, y \in X$. Then g is a solution to (4).

In this chapter, we complement these two theorems by considering the inequality

$$\|g(px + (1 - p)y) + g((1 - p)x + py) - g(x) - g(y)\| \le \delta \qquad x, y \in X$$
(8)

with a fixed positive real δ . In particular, we also obtain a description of solutions to (4).

Note that if we write $\overline{p} := 1 - p$, then Eq. (4) can be rewritten as follows:

$$f(px + \overline{p}y) + f(\overline{p}x + py) = f(x) + f(y).$$
(9)

We use this form of (4) in the sequel. Moreover, we consider a generalization of it with p and \overline{p} being suitable functions, using the notions px := p(x) and $\overline{p}x := px - x$ $(x \in X)$ for simplicity.

Actually, some results in such situation can be derived from [23]. Namely, from [23, Theorem 2] we can deduce the following.

Theorem 3 Let $\delta \in (0, \infty)$, (X, +) be a commutative group, $p : X \to X$ be additive (i.e., p(x + y) = p(x) + p(y) for $x, y \in X$), $\overline{p}(X) = p(X)$, and $g : X \to \mathbb{C}$ satisfy

$$|g(px + (1 - p)y) + g((1 - p)x + py) - g(x) - g(y)| \le \delta \qquad x, y \in X$$

for all $x, y \in X$. Then there is a solution $G : X \to \mathbb{C}$ of Eq. (4) with

$$\sup_{x \in X} |g(x) - G(x)| < \infty.$$
⁽¹⁰⁾

In this chapter, we provide a bit more precise estimations than (10), though we apply reasonings similar to those in [23].

2 Auxiliary Information and Lemmas

Let us start with a result that follows easily from [2, 24] (cf. [9]). We need for it the notion of the Fréchet difference operator. Let us recall that for a function f, mapping a semigroup (S, +) into a group (G, +),

$$\Delta_{y} f(x) = \Delta_{y}^{1} f(x) := f(x+y) - f(x) \qquad x, y \in S,$$

$$\Delta_{t,z}^{2} := \Delta_{t} \circ \Delta_{z}, \qquad \Delta_{t}^{2} := \Delta_{t,t}^{2} \qquad t, z \in S,$$

$$\Delta_{t,u,z}^{3} := \Delta_{t} \circ \Delta_{u} \circ \Delta_{z}, \qquad \Delta_{t}^{3} := \Delta_{t,t,t}^{3} \qquad t, u, z \in S.$$

It is easy to check that

$$\begin{aligned} \Delta_{t,z}^2 f(x) &= f(x+t+z) - f(x+t) - f(x+z) + f(x) & x, t, z \in S, \\ \Delta_{t,z,u}^3 f(x) &= f(x+t+z+u) - f(x+t+z) - f(x+t+u) - f(x+z+u) \\ &+ f(x+t) + f(x+z) + f(x+u) - f(x) & x, t, z, u \in S. \end{aligned}$$

We refer to [12] for more information and further references concerning this subject. From [2, Theorem 4] (cf. [10, Theorem 7.6]) and [24, Theorem 9.1] we can easily derive the following proposition.

Proposition 1 Let W be a normed space, (V, +) be a commutative group, $\varepsilon \ge 0$, and $G : V \to W$ satisfy the inequality

$$\|(\Delta_y^3 G)(x)\| \le \varepsilon \qquad x, y \in V.$$
(11)

Assume that one of the following two hypotheses is valid.

- (a) $\varepsilon = 0$.
- (b) W is complete and V is divisible by 6 (i.e., for each $x \in V$, there is $y \in V$ with x = 6y).

Then there exist a constant $c \in W$, an additive mapping $a : V \to W$, and a symmetric biadditive mapping $b : V^2 \to W$ such that

$$\|G(x) - b(x, x) - a(x) - c\| \le \frac{2\varepsilon}{3} \qquad x \in V.$$

Let us now recall two more stability results (see, e.g., [10, p. 13 and Theorem 3.1]).

Lemma 1 Let (V, +) be a commutative group, W be a Banach space, $\varepsilon \ge 0$, and $g: V \rightarrow W$ satisfy the inequality

$$\|g(x+y) - g(x) - g(y)\| \le \varepsilon \qquad x, y \in V.$$

Then there exists the limit

$$A(x) = \lim_{n \to \infty} 2^{-n} g(2^n x) \qquad x \in V$$
(12)

and the function $A: V \rightarrow W$, defined in this way, is additive and

$$\|g(x) - A(x)\| \le \varepsilon \qquad x \in V.$$

Lemma 2 Let (V, +) be a commutative group, W be a Banach space, $\varepsilon \ge 0$, and $g: V \rightarrow W$ satisfy the inequality

$$||g(x + y) + g(x - y) - 2g(x) - 2g(y)|| \le \varepsilon$$
 $x, y \in V$.

Then there exists the limit

$$b(x) = \lim_{n \to \infty} 4^{-n} g(2^n x) \qquad x \in V$$
(13)

and the function $b: V \rightarrow W$, defined in this way, is quadratic and fulfills the inequality

$$||g(x) - b(x)|| \le \frac{\varepsilon}{2}$$
 $x \in V$

In what follows, given a function p mapping a group (V, +) into itself, for the sake of simplicity we write,

$$px := p(x), \quad \overline{p}x := x - px \quad x \in V.$$

The next proposition will be very useful in the proofs of our main results.

Lemma 3 Let (V, +) be a commutative group, $\varepsilon \ge 0$, $p : V \to V$ be a homomorphism with $p(V) = \overline{p}(V)$, and W be a normed space. Assume that $g : V \to W$ satisfies the inequality

$$\|g(px + \overline{p}y) + g(\overline{p}x + py) - g(x) - g(y)\| \le \epsilon \qquad x, y \in V.$$
(14)

Then the following two statements are valid.

- (i) If g is odd, then $\|\Delta_{z,u}^2 g(x)\| \le 4\varepsilon$ for $x, z, u \in V$.
- (ii) $\|\Delta_{t,u,z}^3 g(x)\| \le 8\varepsilon$ for $x, z, u, t \in V$.

Proof This proof is patterned on some reasonings from [23].

Take $z \in V$. There exists $w \in V$ with $pw = -\overline{p}z$, because $p(V) = \overline{p}(V)$ is a subgroup of V. Note that

$$\overline{p}(x+z) + p(y+w) = \overline{p}x + py \qquad x, y \in V,$$

whence replacing x by x + z and y by y + w in (14), we get

$$\|g(px + \overline{p}y + pz + \overline{p}w) + g(\overline{p}x + py)$$

$$-g(x + z) - g(y + w)\| \le \varepsilon \qquad x, y \in V.$$
(15)

Now, (14) and (15) yield

$$\begin{aligned} \|g(x+z) - g(x) - g(px + \overline{p}y + pz + \overline{p}w) & (16) \\ &+ g(px + \overline{p}y) + g(y + w) - g(y)\| \\ &\leq \|g(px + \overline{p}y + pz + \overline{p}w) + g(\overline{p}x + py) - g(x + z) - g(y + w)\| \\ &+ \|g(px + \overline{p}y) + g(\overline{p}x + py) - g(x) - g(y)\| \leq 2\varepsilon \quad x, y \in V. \end{aligned}$$

Take $u \in V$. Analogously as before, we deduce that there is $v \in V$ with $\overline{p}v = -pu$. Clearly

$$p(x+u) + \overline{p}(y+v) = px + \overline{p}y \qquad x, y \in V.$$

Hence, replacing x by x + u and y by y + v in (16), we have

$$\|g(x+u+z) - g(x+u) - g(px+\overline{p}y+pz+\overline{p}w) + g(px+\overline{p}y)$$
(17)
+ $g(y+w+v) - g(y+v)\| \le 2\varepsilon$ $x, y \in V.$

It is easily seen that (16) and (17) imply

$$\|g(x + u + z) - g(x + u) - g(x + z) + g(x)$$

$$+ g(y + w + v) - g(y + w) - g(y + v) + g(y)\|$$

$$\leq \|g(px + \overline{p}y + pz + \overline{p}w) - g(px + \overline{p}y)$$
(18)

$$-g(x+z) - g(y+w) + g(x) + g(y) \parallel$$

+
$$\|g(px + \overline{p}y + pz + \overline{p}w) - g(px + \overline{p}y) - g(x+u+z) - g(y+w+v)$$

+
$$g(x+u) + g(y+v) \parallel \le 4\varepsilon \qquad x, y \in V$$

which with x replaced by x + t yields

$$\|g(x+t+u+z) - g(x+t+u) - g(x+t+z) + g(x+t) + g(y+w+v) - g(y+w) - g(y+v) + g(y)\| \le 4\varepsilon \qquad t, x, y \in V.$$

Combining (18) and the latter inequality, we get statement (ii).

For the proof of (i), observe that (18) with x replaced by -x - z - u, under the assumption of the oddness of g, brings

$$\| -g(x) + g(x+z) + g(x+u) - g(x+z+u)$$

$$+ g(y+w+v) - g(y+w) - g(y+v) + g(y) \| \le 4\varepsilon \qquad x, y \in V,$$
(19)

whence and from (18) we have

$$\|2 g(x) - 2 g(x+z) - 2 g(x+u) + 2 g(x+z+u)\| \le 8\varepsilon \qquad x, y \in V.$$
 (20)

This yields statement (i).

The next corollary provides a description of solutions to (9), which will be useful in the sequel.

Corollary 1 Let V and W be as in Proposition 1 and $p: V \to V$ be a homomorphism with $p(V) = \overline{p}(V)$. Then $f: V \to W$ satisfies Eq. (9) if and only if there exist $c \in W$, an additive $a: V \to W$ and a biadditive and symmetric $L: V^2 \to W$ such that

$$f(x) = L(x, x) + a(x) + c \qquad x \in V,$$
 (21)

$$L(px,\overline{p}x) = 0 \qquad x \in V.$$
(22)

Proof Let $f : V \to W$ be a solution of Eq. (9). Then (14) holds with $\varepsilon = 0$. Consequently, according to Lemma 3 (ii),

$$(\Delta_{y}^{3}f)(x) = 0 \qquad x, y \in V.$$

Hence, on account of Proposition 1, there exist $c \in W$, an additive $a : V \to W$, and a quadratic $b : V \to W$ such that f(x) = b(x) + a(x) + c for $x \in V$. Further, it is well known (see, e.g., [1]) that there exists a symmetric biadditive $L : V^2 \to W$ such that b(x) = L(x, x) for $x \in V$, whence (21) holds. Now, it is easily seen that (9) (with y = 0) and (21) yield

$$L(px, px) + L(\overline{p}x, \overline{p}x) = L(x, x) \qquad x \in V$$

and consequently

$$-2L(px,\overline{p}x) = L(px,px) + L(\overline{p}x,\overline{p}x) - L(x,x) = 0 \qquad x \in V,$$
(23)

which gives (22).

The converse is a routine task.

We need yet the following very simple lemma.

Lemma 4 Let (V, +) be a commutative group, W be a normed space, $a, a_0 : V \rightarrow W$ be additive, $L, L_0 : V^2 \rightarrow W$ be biadditive, $c \in W$ and

$$M := \sup_{x \in V} \|a_0(x) - a(x) + L_0(x, x) - L(x, x) + c\| < \infty.$$
(24)

Then $a = a_0$ and $L = L_0$.

Proof That proof is actually a routine by now, but we present it here for the convenience of readers.

Note that

$$||L_0(x,x) - L(x,x)|| \le ||a(x) - a_0(x)|| + ||c|| + M \qquad x \in V,$$

whence

$$\begin{split} \|L(x,x) - L_0(x,x)\| &= n^{-2} \|L(nx,nx) - L_0(nx,nx)\| \\ &\leq n^{-2} (\|a(nx) - a_0(nx)\| + \|c\| + M) \\ &= n^{-1} \|a(x) - a_0(x)\| + n^{-2} (\|c\| + M) \qquad x \in V, n \in \mathbb{N}, \end{split}$$

which yields $L = L_0$. Hence, by (24),

$$\|a(x) - a_0(x)\| = n^{-1} \|a(nx) - a_0(nx)\|$$

$$\leq n^{-1} (\|c\| + M) \qquad x \in V, n \in \mathbb{N},$$

and consequently $a = a_0$.

3 The Main Stability Results

We start with two theorems describing odd and even solutions of functional inequality (14). They will help us to obtain the main result of the chapter (but they seem to be interesting, as well).

Theorem 4 Let (V, +) be a commutative group, $\epsilon \ge 0$, $p: V \to V$ be a homomorphism, $p(V) = \overline{p}(V)$, and W be a Banach space. Assume that $g: V \to W$ is odd and satisfies the inequality

$$\|g(px + \overline{p}y) + g(\overline{p}x + py) - g(x) - g(y)\| \le \varepsilon \qquad x, y \in V.$$
⁽²⁵⁾

Then there exists a unique additive function, $A: V \rightarrow W$, such that

$$\|g(x) - A(x)\| \le 4\varepsilon \qquad x \in V.$$
⁽²⁶⁾

Moreover, (12) *holds and for every solution* $h: V \to W$ *of* (9) *such that*

$$\sup_{x\in V}\|g(x)-h(x)\|<\infty,$$

the function A - h is constant.

Proof According to Lemma 3 (i),

$$\|g(x + z + u) - g(x + z) - g(x + u) + g(x)\| \le 4\varepsilon \qquad x, z, u \in V,$$

which with x = 0 yields

$$\|g(z+u) - g(z) - g(u)\| \le 4\varepsilon \qquad z, u \in V.$$

Hence Lemma 1 implies the existence and the form of A. It remains to show the statements on the uniqueness of A.

So, suppose that $A_0: V \to W$ is additive and

$$\sup_{x\in V} \|g(x) - A_0(x)\| \le 4\varepsilon.$$

Then

$$\sup_{x\in V} \|A(x) - A_0(x)\| \le 8\varepsilon,$$

which implies that $A = A_0$.

Now, let $h: V \to W$ be a solution of (9) such that

$$\sup_{x\in V}\|g(x)-h(x)\|<\infty.$$

Then

$$M := \sup_{x \in V} \|A(x) - h(x)\| < \infty.$$

Further, by Corollary 1, h(x) = a(x) + L(x, x) + c with some $c \in W$, an additive $a : V \to W$, and a biadditive and symmetric $L : V^2 \to W$. So, Lemma 4 implies that

$$L(x,x) = 0 \qquad x \in V$$

and A = a.

Theorem 5 Let (V, +) be a commutative group, $\varepsilon \ge 0$, $p: V \to V$ be a homomorphism, $p(V) = \overline{p}(V)$, and W be a Banach space. Assume that $g: V \to W$ is even and satisfies inequality (25). Then there exists a unique biadditive and symmetric mapping $L: V^2 \to W$ such that

$$\|L(x,x) - g(x) + g(0)\| \le 4\varepsilon \qquad x \in V.$$

$$(27)$$

Moreover, (22) holds,

$$L(x,x) = \lim_{n \to \infty} 4^{-n} g(2^n x) \qquad x \in V$$
(28)

and, for every solution $h: V \to W$ of (9) with

$$\sup_{x\in V}\|g(x)-h(x)\|<\infty,$$

there is $c \in W$ such that h(x) = L(x, x) + c for $x \in V$.

Proof Let $g_0 := g - g(0)$. Then g_0 fulfills (25) as well. According to Lemma 3 (ii),

$$\begin{aligned} \|g_0(x+t+z+u) - g_0(x+t+z) - g_0(x+t+u) - g_0(x+z+u) \\ + g_0(x+t) + g_0(x+z) + g_0(x+u) - g_0(x)\| &\leq 8\varepsilon \qquad x, t, z, u \in S, \end{aligned}$$

whence (with x = 0 and u = -t) we obtain

$$\|g_0(z) - g_0(t+z) - g_0(0) - g_0(z-t) + g_0(t) + g_0(z) + g_0(-t) - g_0(0)\|$$

$$\leq 8\varepsilon \qquad t, u, z \in V$$

and consequently

$$||2g_0(z) - g_0(t+z) - g_0(z-t) + 2g_0(t)|| \le 8\varepsilon \qquad t, z \in V.$$

Hence Lemma 2 implies the existence of L and (28).

Now we show that (22) holds. Clearly, (25) (with y = 0) yields

$$\|g(px) + g(\overline{p}x) - g(x) - g(0)\| \le \varepsilon \qquad x \in V.$$

So, (27) implies that

$$\|L(px, px) + L(\overline{p}x, \overline{p}x) - L(x, x)\|$$

$$\leq \|L(px, px) + g(0) - g(px)\|$$

$$+ \|L(\overline{p}x, \overline{p}x) + g(0) - g(\overline{p}x)\|$$

$$+ \|g(x) - L(x, x) - g(0)\|$$

$$+ \|g(px) + g(\overline{p}x) - g(x) - g(0)\| \le 13\varepsilon \qquad x \in V.$$
(29)

Since b is biadditive and it is very easy to check that

$$-2 L(px, \overline{p}x) = L(px, px) + L(\overline{p}x, \overline{p}x) - L(x, x) \qquad x \in V,$$

from (29), we get

$$2k^{2} \|L(px, \overline{p}x)\| = \|L(pkx, pkx) + L(\overline{p}kx, \overline{p}kx) - L(kx, kx)\|$$
(30)
$$\leq 13\varepsilon \qquad x \in V, k \in \mathbb{N},$$

which means that (22) holds.

It remains to show the statements on the uniqueness of L. So, first suppose that $L_0: V^2 \rightarrow W$ is symmetric, biadditive, and

$$\sup_{x\in V} \|L_0(x,x) - g(x) + g(0)\| \le 4\varepsilon.$$

Then

$$\sup_{x\in V} \|L_0(x,x) - L(x,x)\| \le 8\varepsilon,$$

whence from Lemma 4 we deduce that $L_0 = L$.

Now, assume that $h: V \to W$ is a solution of (9) with

$$\sup_{x\in V}\|g(x)-h(x)\|<\infty.$$

This implies that

$$M := \sup_{x \in V} \|L(x,x) - h(x)\| < \infty.$$

Further, according to Corollary 1,

$$h(x) = a(x) + S(x, x) + c \qquad x \in V$$

with some $c \in W$, an additive $a : V \to W$, and a biadditive and symmetric $S : V^2 \to W$. Clearly, by Lemma 4, L = S and a(x) = 0 for every $x \in V$. Hence

$$h(x) = L(x, x) + c \qquad x \in V.$$

In what follows, given a function g mapping a group (V, +) into a real linear space W, by g_o and g_e , we denote the odd and even parts of g, i.e.,

$$g_o(x) := \frac{g(x) - g(-x)}{2}$$
 $x \in V$,
 $g_e(x) := \frac{g(x) + g(-x)}{2}$ $x \in V$.

The next theorem is the main result in this chapter.

Theorem 6 Let (V, +) be a commutative group, $p: V \to V$ be a homomorphism such that $p(V) = \overline{p}(V)$, W be a Banach space, $\varepsilon \ge 0$ and $g: V \to W$ satisfy inequality (25). Then there exist a unique additive function $a: V \to W$ and a unique biadditive function $L: V^2 \to W$ such that

$$||g(x) - a(x) - L(x, x) - g(0)|| \le 8\varepsilon \qquad x \in V.$$
(31)

Moreover, (22) holds,

$$a(x) = \lim_{n \to \infty} 2^{-n} g_0(2^n x), \qquad L(x, x) = \lim_{n \to \infty} 4^{-n} g_e(2^n x) \qquad x \in V$$
(32)

and, for every solution $h: V \to W$ of (9) with

$$\sup_{x \in V} \|g(x) - h(x)\| < \infty, \tag{33}$$

there is $c \in W$ such that h(x) = a(x) + L(x, x) + c for $x \in V$. If V is divisible by 6, then there exists $c_0 \in W$ with

$$||g(x) - a(x) - L(x, x) - c_0|| \le \frac{16\varepsilon}{3}$$
 $x \in V.$ (34)

Proof It is easily seen that g_o and g_e satisfy inequalities analogous to (25). So, by Theorems 4 and 5, there exist an additive function $a : V \to W$ and a symmetric biadditive function $L : V^2 \to W$ such that

$$\|g_o(x) - a(x)\| \le 4\varepsilon, \qquad \|g_e(x) - L(x, x) - g(0)\| \le 4\varepsilon \qquad x \in V.$$
(35)

Moreover, (32) holds and, clearly,

$$\|g(x) - a(x) - L(x, x) - g(0)\| \le \|g_o(x) - a(x)\|$$

$$+ \|g_e(x) - L(x, x) - g(0)\| \le 8\varepsilon \quad x \in V.$$
(36)

Further, (25) (with y = 0) yields

$$\|g_e(px) + g_e(\overline{p}x) - g_e(x) - g(0)\| \le \varepsilon \qquad x \in V.$$

Hence analogous to (29), from (35) we derive that

$$\|L(px, px) + L(\overline{p}x, \overline{p}x) - L(x, x)\| \le 13\varepsilon \qquad x \in V,$$
(37)

whence (30) holds, which implies (22).

For the proof of uniqueness of a and L, suppose that $a_0: V \to W$ is additive, $L_0: V^2 \to W$ is biadditive, and

$$\|g(x) - a_0(x) - L_0(x, x) - g(0)\| \le 8\varepsilon \qquad x \in V.$$
(38)

Then

$$||a_0(x) - a(x) - L_0(x, x) - L(x, x)|| \le 16\varepsilon \qquad x \in V$$
(39)

and consequently, by Lemma 4, $L = L_0$ and $a = a_0$.

Now, let $h: V \to W$ be a solution of (9) fulfilling condition (33). Then, in view of (31),

$$M := \sup_{x \in V} \|a(x) + L(x, x) + g(0) - h(x)\| < \infty$$
(40)

and, according to Corollary 1, $h(x) = a_0(x) + L_0(x, x) + c$ with some $c \in W$, an additive $a_0: V \to W$ and a biadditive and symmetric $L_0: V^2 \to W$. Hence, again

Lemma 4 implies that $L = L_0$ and $a = a_0$. Consequently h(x) = L(x, x) + a(x) + c for $x \in V$.

Finally assume that V is divisible by 6. Then, in view of Lemma 3 (ii), we have

$$\|(\Delta_y^3 g)(x)\| \le 8\varepsilon \qquad x, y \in V.$$

Further, by Proposition 1, there are $c_0 \in W$, an additive $a_0 : V \to W$ and a biadditive and symmetric $b_0 : V^2 \to W$ such that

$$\|g(x) - b_0(x, x) - a_0(x) - c\| \le \frac{16}{3}\varepsilon \qquad x \in V.$$
(41)

In view of (31) and Lemma 4, we must have $a_0 = a$ and $L_0 = L$.

For some discussions on a special case of condition (22), we refer to [7] (see also [6, 8, 13]).

Remark 1 There arises natural questions whether (under reasonable suitable assumptions) we can get some better estimations than in (31) and (34) and whether the assumption of divisibility of V by 6 is necessary to get (34). Also, it would be interesting to know if we can have $c_0 = g(0)$ in (34).

References

- Aczél, J., Dhombres, J.: Functional Equations in Several Variables. Encyclopedia of Mathematics and its Applications, vol. 31. Cambridge University Press, Cambridge (1989)
- 2. Albert, M., Baker, J.A.: Functions with bounded *m*-th differences. Ann. Polon. Math. **43**, 93–103 (1983)
- Brillouët-Belluot, N., Brzdęk, J., Ciepliński, K.: On some recent developments in Ulam's type stability. Abstr. Appl. Anal. (2012). (Article ID 716936, 41 pages)
- 4. Brzdęk, J.: Stability of the equation of the *p*-Wright affine functions. Aequ. Math. **85**, 497–503 (2013)
- Brzdęk, J., Fošner, A.: Remarks on the stability of Lie homomorphisms. J. Math. Anal. Appl. 400, 585–596 (2013)
- Daróczy, Z., Maksa, G., Páles, Z.: Functional equations involving means and their Gauss composition. Proc. Am. Math. Soc. 134, 521–530 (2006)
- Daróczy, Z., Lajkó, K., Lovas, R.L., Maksa, G., Páles, Z.: Functional equations involving means. Acta Math. Hung. 166, 79–87 (2007)
- Gilányi, A., Páles, Z.: On Dinghas-type derivatives and convex functions of higher order. Real Anal. Exch. 27, 485–493 (2001/2002)
- 9. Hyers, D.H.: Transformations with bounded m th differences. Pac. J. Math. 11, 591–602 (1961)
- Hyers, D.H., Isac, G., Rassias, Th.M.: Stability of Functional Equations in Several Variables. Birkhäuser, Boston (1998)
- Jung, S.-M.: Hyers–Ulam–Rassias Stability of Functional Equations in Nonlinear Analysis. Springer Optimization and Its Applications, vol. 48. Springer, New York (2011)
- 12. Kuczma, M.: An Introduction to the Theory of Functional Equations and Inequalities: Cauchy's Equation and Jensen's Inequality, 2nd edn. Birkhuser, Basel (2009)
- Lajkó, K.: On a functional equation of Alsina and García-Roig. Publ. Math. Debr. 52, 507–515 (1998)
- Maksa, G., Nikodem, K., Páles, Z.: Results on *t*-Wright convexity. C. R. Math. Rep. Acad. Sci. Can. 13, 274–278 (1991)

- 15. Moszner, Z.: On the stability of functional equations. Aequ. Math. 77, 33-88 (2009)
- Najati, A., Park, C.: Stability of homomorphisms and generalized derivations on Banach algebras. J. Inequal. Appl. 2009, 1–12 (2009)
- Nikodem, K., Páles, Z.: On approximately Jensen-convex and Wright-convex functions. C. R. Math. Rep. Acad. Sci. Can. 23, 141–147 (2001)
- Pardalos, P.M., Rassias, Th.M., Khan, A.A. (eds.): Nonlinear Analysis and Variational Problems (In Honor of George Isac). Springer Optimization and its Applications, vol. 35. Springer, Berlin (2010)
- Pardalos, P.M., Georgiev, P.G., Srivastava, H.M. (eds.): Nonlinear Analysis. Stability, Approximation and Inequalities (In Honor of Themistocles M. Rassias on the Occasion of his 60th Birthday). Springer Optimization and its Applications, vol. 68. Springer, New York (2012)
- 20. Rassias, Th.M. (ed.): Functional Equations and Inequalities. Kluwer Academic, London (2000)
- 21. Rassias, Th.M. (ed.): Functional Equations, Inequalities and Applications. Kluwer Academic, London (2003)
- 22. Rassias, Th.M., Brzdęk, J. (eds.): Functional Equations in Mathematical Analysis. Springer Optimization and its Applications, vol. 52. Springer, New York (2012)
- Székelyhidi, L.: The stability of linear functional equations. C. R. Math. Rep. Acad. Sci. Can. 3(2), 63–67 (1981)
- 24. Székelyhidi, L.: Convolution Type Functional Equations on Topological Abelian Groups. World Scientific, Singapore (1991)
- 25. Ulam, S.M.: Problems in Modern Mathematics. (Science Editions) Wiley, New York (1964)
- 26. Wright, E.M.: An inequality for convex functions. Am. Math. Mon. 61, 620-622 (1954)